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BT T2 MRl T8 T =% BT % Mg T8 T =%
HX 40,047 86,157 41,082 45,075
RIRET1T 6 15 9 6
RIRET2T 25 55 26 29
AIEET3T 186 592 288 304
RIRET4T 400 963 479 484
B 617 1,625 802 823
REH 2,687 6,021 2,798 3,223
L&A 4,324 9,432 4,387 5,045
5E 2,647 5,918 2,864 3,054
B AN 1,302 2,842 1,335 1,507
BERT 1,381 1,950 959 991
BER2T 765 1,367 661 706
BERST 647 1,529 733 796
B 2,793 4,846 2,353 2,493
BEXRE 276 650 317 333
= 2,201 4,943 2,347 2,596
hERE 644 1,431 662 769
e 2,464 5,057 2,439 2,618
25 L ET 2,344 5,093 2,430 2,663
B &AL BT 75 149 62 87
HEFILET1T 562 1,205 561 644
HEFILET2T 621 1,294 609 685
HEZFILAT3T 648 1,479 726 753
g 1,906 4,127 1,958 2,169
B & it B Fr ET 692 1,556 753 803
BHEREBET1T 583 1,172 563 609
BHERERET2T 766 1,736 833 903
BHERERETST 784 1,594 723 871
BHERERET4T 518 954 452 502
HEKERETST 839 1,686 803 883
HEERET6T 871 1,894 922 972
BHERERET7T 890 1,870 926 944
HERERETST 70 207 102 105
£t| 5321 11,113 5,324 5,789
HEF R FET 1,979 4116 2,007 2,109
S|EFET1T 629 1,580 789 791
S|EFET2T 769 1,736 815 921
S|EFET3 T 735 1,381 638 743
g 2,133 4,697 2,242 2,455
ERE1T 578 1,311 630 681
EIRET2T 386 1,029 512 517
EREIST 512 1,336 653 683
EIRETAT 688 1,458 648 810
EIZEIST 529 1,101 559 542
g 2,693 6,235 3,002 3,233
ME A 2914 6,252 2,970 3,282
J\THET1T 33 35 13 22
J\THET2T 26 57 29 28
J\THEI3T 51 111 50 61
B 110 203 92 111
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